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SSC GD Constable Exam. – Practice Set
Answer with Explanation

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1. (d) xy£z̃ éôé£zéôéxy„þîîû# @ùÌöìsþiîû îû‰þ!ëû“þy £öìœ˜ xyî%œ šþ‹œÐ
2. (c) þ™y£z!îûvþ!:˜ !¦þÝþy!›˜ B6éôé~îû îûy¢yëû!˜„þ ˜y›Ð
3. (c) ¦þyîû“þ#ëû þ™yœÅyöì›öìrÝþîû ë%@Â x!•öìîŸöì̃  ¢¦þyþ™!“þc „þöìîû̃

ßþ™#„þyîûÐ
4. (b) ¢Á±!“þ  ¦þyîûöì“þîû îyëû%öì¢˜yîy!£˜#îû !‰þšþ xšþ ~ëûyîû ÞÝþyšþ

!£¢yöìî !˜ë%_« £öìëûöìŠé˜ x›îû ²Ì#“þ !¢‚Ð !“þ!˜ ~£z þ™öì”
þ™)îÅî“Åþ# þ™”y!•„þyîû# ~ëûyîû !‰þšþ ›yŸÅyœ !¦þ xyîû ö‰þï•%îû#óîû
ßþiœy!¦þ!¡ì_« £öìœ˜Ð

5. (c) ¦þyîûöì“þîû öŸ¡ì ¦þy£z¢îûëû !Šéöìœ˜ œvÅþ ›yvþzrÝþîÄyöìÝþ˜Ð
¢›ëû„þyœ S›y‰Åþ 1947 öíöì„þ ‹%̃  1948)

6. (d) ¦þyîûöì“þîû ”#‡Å“þ› ‹y“þ#ëû ¢vþü„þ þ™í!Ýþ !îhß+þ“þé îyîûy’¢# öíöì„þ
„þ˜Äy„%þ›yîû# þ™ëÅhsþÐ

7. (b) ¦þyîû“þ#ëû xíÅ̃ #!“þöì“þ ‹y“þ#ëû xyëû þ™!îû›yþ™ „þöìîû CSO,
ëyîû þ™%öìîûy ˜y› Central Statistical Organisation.

8. (d) ¢Á±!“þ ²Ì„þy!Ÿ“þ òö@Õyîyœ £zöì̃ yöì¦þŸ˜ £zöìuþ:óéôé~ ²Ìí›
ßþiyöì̃  ¢%£z‹yîûœÄyuþ îûöìëûöìŠÐ ~£z “þy!œ„þyëû ¦þyîû“þ 39“þ›
ßþiyöì̃  îûöìëûöìŠéÐ

9. (a) îy‚œyîû ”ŸŸyœy îöì̈ yîhßþ ²Ìî“Åþ˜ „þöìîû̃  œvÅþ „þ˜Åçëûy!œŸÐ
“¤þyîû „þyëÅ„þyœ 1786 !…ÊÞÝþy· öíöì„þ 1793 ~î‚ !m“þ#ëû
”šþyëû 1805 ¢yöìœ „þyëÅy!” Öîû& „þîûöìœç ç£z îŠéîû£z !“þ!˜
›yîûy ëy˜Ð

10. (c) ¦þyîûöì“þîû vþz”Äy˜ ˜†îû# îœy £ëû öîDyœ%îû&öì„þÐ
11. (b) SAIL ²Ì!“þ!Ûþ“þ £ëû 1954 ¢yöìœÐ ~îû ¢”îû ”®îû ˜“%þ˜

!”!ÍÔÐ vþzêþ™y”öì̃ îû !˜!îûöì… ö¢œ !îöìÙ»îû 20“þ› ~î‚ ¦þyîûöì“þîû
“,þ“þ#ëû î,£_› £zßþ™y“þ vþzêþ™y”˜„þyîû# ¢‚ßþiyÐ

12. (a) ¢Á±!“þ ¦þyîû“þ– îÊy!‹œ ~î‚ ”!Çþ˜ xy!šÊþ„þyóîû ö˜ïîy!£˜#îû
›öì•Ä x˜%!Ûþ“þ öëïí ö˜ï ›£vþüyîû ˜y› £œéôéIBSAMAR
VIII.

13. (d) SONAR (Sound Navigation Ranging) vþzþ™öìîûîû ¢î
„þyöì‹ “þíy ‹öìœîû †¦þ#îû“þy þ™!îû›yöìþ™– ‹öìœîû ˜#öì‰þ ö„þyöì̃ y
îlßþîû xîßþiy˜ !˜’Åöìëû– Ÿe&þ™öìÇþîû v%þöìîy‹y£yöì‹îû xîßþiy˜ ç
Ÿ˜y_«„þîûöì’ îÄî£*“þ £ëûÐ

14. (d) îûy›öì›y£˜ îûyëû
15. (b) ¢y£z›˜ „þ!›Ÿ˜ 1927 ¢yöìœ †!àþ“þ £ëûÐ
16. (c) ¢Á±!“þ ‹Á¿% ç „þyÙÂ#öìîûîû ›%…Ä›sþf# !£¢yöìî !˜ë%_« £öìœ˜

ç›îû xy·%ÍÔyÐ övþþ™%!Ýþ ›%…Ä›sþf# !£¢yöìî ”y!ëûc¦þyîû @ùÌ£’
„þöìîûöìŠé˜ ¢%!îû̈ îû „%þ›yîû ö‰þï•%!îûÐ

17. (d) !‡ ÷“þ!îûöì“þ £y£zöìvÈþyöì‹˜ †Äyöì¢îû ²Ìöìëûy‹˜ £ëûÐ !‡ £œ
~„þ²Ì„þyîû þ™!îûöìŸy!•“þ ›y…˜Ð

18. (a) þ™yî!œ„þ xÄy„þyvþzrÝþ¢ „þ!›!Ýþ öœy„þ¢¦þyîû !ßþ™„þyöìîûîû „þyöìŠé
îy!¡ìÅ„þ !îûöìþ™yÝÅþ öþ™Ÿ „þöìîûÐ

19. (d) ¦þyîûöì“þîû vþzþ™îûyÜTÉþ™!“þ £çëûyîû ‹˜Ä ˜)Ä˜“þ› 35 îŠéîû îëû¢
²Ìöìëûy‹˜Ð ¦þyîûöì“þîû ¢‚!î•y˜ x˜%¢yöìîû– vþzþ™îûyÜTÉþ™!“þ £öìœ˜
Çþ›“þyîû !m“þ#ëû ²Ì•y˜ îÄ!_«Ð

20. (c) ¢Á±!“þ ×#œBþyîû ²Ì•y˜›sþf# !£¢yöìî !˜ë%_« £öìœ˜ £y!îû!˜
xy›yîûy¢%!îûëûyÐ !“þ!˜ ~£z þ™öì” þ™)îÅî“Åþ# þ™”y!•„þyîû# ”#öì̃ Ÿ
=˜î•Åöì̃ óîû ßþiœy!¦þ!¡ì_« £öìœ˜Ð

21. (b) a = 8 £öìœ !¢!îû‹!Ýþ £öìîéôôôé
a2 + 2 = 82 + 2 = 66
a2 – 3 = 82 – 3 = 61
a2 + 5 = 82 + 5 = 69
a2 – 7 = 82 – 7 = 57
a2 + 11 = 82 + 11 = 75

22. (a) ²Ì!“þ!Ýþ ¢y!îûöì“þ !“þ˜!Ýþ þ™ëÅyëûe«!›„þ ßþºy¦þy!î„þ ¢‚…Äyîû î†Å
!îþ™îû#“þ e«öì› ö”çëûy îûöìëûöìŠéÐ

23. (a) H

24. (a)

25. (a) 23 – 22 = 4
33 – 32 = 18
43 – 42 = 48
53 – 52 = 100

26. (b) £œ%”
27. (a)

28. (b) 20 !›Ýþyîû

40 !›Ýþyîû40 !›Ýþyîû

A

BC

D

 AD = BC = 20 !›Ýþyîû
¢%“þîûy‚ D !î¨% 20 !›Ýþyîû ”)öìîû xî!ßþi“þ A !î¨% öíöì„þÐ

29. (b) bcad bcad bcad

30. (b) A

D M E
I G H K
J L

B F C
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31. (d) t s t / t s t / t s t / t s t

32. (c) A C E G B D F H

+1
+1
+1
+1

~„þ£z¦þyöìî–
S U W Y T V X Z

+1
+1
+1
+1

33. (a)

A  Z   B   Y  F  U  O   L  E   V

+12 +22 +32 +42

–12 –22 –32 –42

34. (a) 121 = 4 xíÅyê 1 + 2 + 1 = 4
323 = 8 xíÅyê 3 + 2 + 3 = 8
“þy£öìœ– 713 = 7 + 1 + 3 = 11

35. (a) ö›öìëû!Ýþ îœœ– “þ¤yîû îyîyîû ~„þ›ye öŠéöìœîû àþy„%þ›y xíÅyê
“¤þyîû àþy„%þ›y– “¤þyîû þ™%eî•) xíÅyê “¤þyîû ›yÐ

36. (a)
+4

C

G

+4 +4 +4 +4 +4
O R N E R

S V R I V
“þy£öìœ–

+4
C

G

+4 +4 +4 +4 +4
E N T R A

I R X V E

+4
L

P
37. (d) BESTéôé~ 4!Ýþ letter xyöìŠé = 42 = 16

CATéôé~ 3!Ýþ letter xyöìŠé = 32 = 9
ACTORéôé~ 5!Ýþ letter xyöìŠé = 52 = 25

38. (d) 27 + 3 – 3 × 11 ÷ 8
= 27 ÷ 3 × 3 + 11 – 8
= 27 + 11 – 8
= 30

39. (c) ~„þ‹˜ Principal, Parent £öì“þ þ™yöìîû– xyîyîû ~„þ‹˜
Parent, Principal £öì“þ þ™yöìîû !„þlsþ Student ¢Á™)’Å
x˜Ä ö×!’îû “þy£z

Prin
cip

al

Pare
nt

Stud
ent

40. (a) Ÿ·=!œöì„þ öŠéyÝþ öíöì„þ îvþü xy„þyöìîû ¢y‹yöìœ £öìîéôô
Cottage  Flat  House  Bungalow 
Mansion  Palace

41. (d) (35 + 50)% = 85%
85 17

100 20
 

¢%“þîûy‚– xyëû ­ ‹›y = 20 : 3
3 units = 450
1 unit = 150
 Ö¦þîû xyëû = (20 × 150) = 3000 Ýþy„þy

42. (a) a : 9 = 4 : b
43. (c) x : y = 3 : 4

5x 2y 15 8 7
7x 2y 21 8 29

 
 

 
44. (a) †vþü †!“þöìî† = 100/10 = 10 !„þ!›/‡^ùÝþy

7 !„þ!›/‡^ùÝþy 12 !„þ!›/‡^ùÝþy

10 !„þ!›/‡^ùÝþy

2          :        3
4          :        6

¢›ëû

5 units = 10 hour
1 unit = 2 hour
 ”)îûc = 4 × 7 = 28 !„þ!›

45. (a) A, B, Céôé~îû ›)œ•öì̃ îû x˜%þ™y“þ
= 1200 : 1400 : 1000
= 12 : 14 : 10
A, B, Céôé~îû ›)œ•öì̃ îû ¢›öìëûîû x˜%þ™y“þ
= 4 : 8 : 10 = 2 : 4 : 5
A, B, Céôé~îû œyöì¦þîû x˜%þ™y“þ
= 12 : 28 : 25

Béôé~îû œ¦þÄy‚Ÿ 
28 585 252
65

  

46. (c) 48  84  36 öî!Ÿ
36 7.2
5


Šéyeöì”îû ¢!àþ„þ †vþü = 50 – 7.2 = 42.8
47. (a) •!îû– ¢‚…Äy ”%!Ýþ 32x, 32y

~î‚ ~öì”îû †¢y= = 32
32x × 32y = 32 × 1760
 32xy = 1760
 xy = 55
x    y  =  5   ×   11

öŠéyÝþ ¢‚…Äy!Ýþ = 5 × 32 = 160

48. (b) 2 21 13 31 14 9 / 51
5

  
 


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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

2 2 91 115 241
9


   



9 3 71 1
12 4 4

    

49. (b) 2, 4 ç 6éôé~îû œ¢y= = 12
!“þ˜ xöìBþîû î,£_› ¢‚…Äy = 999
999 ö„þ 12 !”öìëû ¦þy† „þîûöìœ ¦þy†öìŸ¡ì íyöì„þ = 3
¢‚…Äy!Ýþ £œ = (999 – 3) + 2 = 998

50. (a) ”%!Ýþ öÝþÆöì̃ îû xyöìþ™!Çþ„þ †!“þöìî† = (40 + 32) = 72

!„þöìœy!›Ýþyîû/‡^ùÝþy 
572 20

18
    !›Ýþyîû/ö¢öì„þuþ

²Ìí› öÝþÆ̃ !Ýþ 20 !›Ýþyîû/ö¢öì„þuþ †!“þöì“þ 6 ö¢öì„þöìuþ x!“þe«›
„þöìîû 6 × 20 = 120 !›Ýþyîû
 öÝþÆ̃ !Ýþîû ÷”‡ÅÄ 120 !›Ýþyîû

51. (c) î†ÅöìÇþöìeîû öÇþešþœ 
1
2

 S„þöì’ÅîûV2

 1 20 20
2

  î†Å!›Ýþyîû

= 200 î†Å!›Ýþyîû
52. (c) ›öì̃  „þ!îû– öÝþÆ̃ !Ýþîû †!“þöìî† = x !„þ!›/‡^ùÝþy

“þyöì”îû xyöìþ™!Çþ„þ †!“þöìî† = (x + 6) !„þ!›/‡^ùÝþy

  5x 6
8

     
!›Ýþyîû/ö¢öì„þuþ

 
150 65x 6

8

 
 

 30 x 6  = (18 × 150)
 30x + 180 = 2700
 30x = 2520
 x = 84
 öÝþÆ̃ !Ýþîû †!“þöìî† 84 !„þ!›/‡^ùÝþy

53. (b) ²Ìí› 6 !”öì̃ îû ×!›„þ!Ýþîû xyëû = 6 × 40 = 240 Ýþy„þy
x“þ~î– îy!„þ (12 – 6) = 6 !”öì̃  ×!›„þ!Ýþîû xyëû (504
– 240) = 264 Ýþy„þy
x“þ~î– öŸ¡ì 6 !”öì̃  “¤þyîû †vþü xyëû 264/6 = 44 Ýþy„þy

54. (c) ›öì̃  „þ!îû– x!˜öìœîû îëû¢ = x îŠéîû ~î‚ ¢%•#îûéôé~îû îëû¢
= (x + 6) îŠéîû

 
x 4 3

x 6 4 4


 
 

x 4
x 10





3
4



 4 x 4   = 3(x + 10)
 x = 14
 ¢%•#öìîûîû î“Åþ›y˜ îëû¢ = (14 + 6) = 20 îŠéîû

55. (c) †vþü †!“þöìî† 
2xy

(x y)



!„þ!›/‡^ùÝþy

2 6 3 4
(6 3)
 

 


 !„þ!›/‡^ùÝþy

56. (d) ›öì̃  „þ!îû– e«ëû›)œÄ = x Ýþy„þy
öëöì£“%þ– x ~îû 75% = 720

75 x 720
100

    
4x 720 960
3

     
 

~…˜– e«ëû›)œÄ = 960 Ýþy„þy ~î‚ œy¦þ = 25%

 !îe«ëû›)œÄ 
125 960
100
   
 

= 1200 Ýþy„þy

57. (a) ›öì̃  „þ!îû– e«ëû›)œÄ = x Ýþy„þy
 !îe«ëû›)œÄ = x Ýþy„þyîû 130% e«ëû›)œÄ Ýþy„þy

130 x 572
100

  

10x 572 440
13

     
 

 Ýþy„þy e«ëû›)œÄ

58. (a) ›öì̃  „þ!îû– e«ëû›)œÄ = x Ýþy„þy
110x 990
100

  

10x 990 900
11

     
 

~…˜– e«ëû›)œÄ = 900 Ýþy„þy ~î‚ !îe«ëû›)œÄ = 890 Ýþy„þy
 Ÿ“þ„þîûy Çþ!“þîû þ™!îû›y’

10 1100 1 %
900 9

   
 

59. (a) 11!Ýþ ¢‚…Äyîû ö›yÝþ šþœ = 11 × 55 = 605
~…˜ 6!Ýþ ¢‚…Äyîû ö›yÝþ šþœ = 6 × 62 = 372
öŸ¡ì 6!Ýþ ¢‚…Äyîû ö›yÝþ šþœ = 6 × 45 = 270
¢%“þîûy‚ ¡ìÛþ ¢‚…Äy!Ýþ £œ = (372 + 270 – 605)

    = 642 – 605 = 37
60. (a) •îûy ëy„þ– !“þ˜‹öì̃ îû îëû¢ ëíye«öì› 2x, 5x ~î‚ 3x

Ÿ“Åþy˜%¢yöìîû– 2x 5x 3x 20
3

 


îy– 
10x 20

3


 x = 6
¢%“þîûy‚ „þ!˜Ûþ“þ› îyœöì„þîû ¢‚…Äy 2 × 6 = 12 îŠéîû

61. (a) Bright
62. (d) Recover
63. (c) Coarse
64. (b) Discontinue
65. (a) Laziness
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66. (c) To suspect a trick or deceit
67. (a) To fight
68. (b) Very rich
69. (a) To exert hidden influence
70. (b) Democracy
71. (d) Widow
72. (b) with

——————

73. (d) in
74. (a) Refrigerator
75. (c) Scripture
76. (a) Innocent
77. (b) Proud
78. (b) Fair
79. (d) of
80. (a) went


